County Stevens

API NO. 15- 189-21,424-6000 OR

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM

Notary Public

Date Commission Expires

ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	SE SE SW SE sec. 36 Twp. 32S Rge. 38 X West
Operator: License #4549	u Ft. North from Southeast Corner of Section
Name: Anadarko Petroleum Corporation Address P. O. Box 351	
City/State/Zip Liberal, Kansas 67905-0351 Purchaser: Northern Natural Gas Company (Transporter) Operator Contact Person: J. L. Ashton Phone (316) 624-6253	Field Name
Contractor: Name:Gabbert-Jones, Inc. License:5842 Wellsite Geologist:NA	4620 4290 3960 3630 3300
Designate Type of Completion X New Well Re-Entry Workover Oil SWD Temp. Abd. X Gas Inj Delayed Comp. Dry Other (Core, Water Supply, etc.)	2970 2640 2310 1980 1550 1320 990
Other (Core, Water Supply, etc.) If OWNO: old well info as follows: Operator: Well Name:	Amount of Surface Pipe Set and Cemented at 513 Feet
Comp. DateOld Total Depth	Multiple Stage Cementing Collar Used? Yes X No
Drilling Method: X Mud Rotary Air Rotary Cable 8-3-90 8-6-90 10-1-90 Spud Date Date Reached TD Completion Date	If yes, show depth set Feet If Alternate II completion, cement circulated from feet depth to w/ sx cmt.
Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will I writing and submitted with the form. See rule 82-3-wireline logs and drillers time log shall be attached with form with all plugged wells. Submit CP-111 form with all conversion of a well requires filing of ACO-2 within 120 days	be held confidential for a period of 12 months if requested in 107 for confidentiality in excess of 12 months. One copy of all this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 ll temporarily abandoned wells. Any recompletion, workover or ys from commencement date of such work.
All requirements of the statutes, rules and regulations promule with and the statements herein are complete and correct to the signature STATE CORRECTION Beverly J. Williams Title Engineering Technician Date Of Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to before me this All day of Office Subscribed and sworn to be subscribed as a subscribed and sworn to be subscribed and sworn to be subscribed as a subscribed as a subscribed and sworn to be subscribed as a subscribe	K.C.C. OFFICE USE ONLY F Letter of Confidentiality Attached C Wireline Log Received C Drillers Timelog Received

udcalta, haka la

CHERYL STEERS

Notery Public - State of Kansan

My Appl. Expires (0-1-93

Form ACO-1 (7-89)

Distribution

SWD/Rep

NGPA

Other (Specify)

SIDE TWO

Operator Name Ana	idarko Petro	leum Corporatio	n Lease Name	Bane '	"I"	Well # .	2 .
		🗆 East	County	Steve	ns		
Sec. <u>36</u> Twp. <u>32</u>	<u>!S</u> Rge. <u>38</u>	X West			 -		
interval tested, ti	ime tool open a es, bottom hole	and base of formati nd closed, flowing a temperature, fluid re opy of log.	and shut-in pre	ssures, whet	her shut-in pre	ssure read	hed static level
Drill Stem Tests Tai (Attach Addition		Yes No			Formation Desc	ription	
Samples Sent to Geo	logical Survey	🗆 Yes 🖾 No		·	X Log	Sample	
Cores Taken		🗌 Yes 🛛 No	Name		Тор	Botte	
Electric Log Run		🛛 Yes 🛣 No	Blaine		1077	114	
(Submit Copy.)		,	Cedar Hi		1190	136 172	
			Stone co	orral	1653	284	
			Chase	a	2514		13
•			Council	Grove	2843	NA 300	12
			TD			300)3
			}				
			}				
							
İ		CASING RECORD					Ì
			New D				ļ
	керогт а	ll strings set-conduc	tor, surface, 1	intermediate,	production, etc	c. 	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/2	8 5/8	24	513	Pozmix &	_330	2% cc
Production	- 	5 1/2	14	3002	Class "C"	265	.3% cc 20% DCD
	_ 			-1/10/2			10% DCD
 				 	<u> </u>	<u></u> _	
Shots Per Foot	PERFORATION Specify Footag	I RECORD Je of Each Interval F	erforated		Fracture, Shot, d Kind of Mater		eeze Record Depth
2	2848-2940			Brk dwn y	w/5800 gals	7 1/2%	2848-2940
	2010 2310			Fe Acid		<u>, 1/2/%.</u> 'rac	2040-2940
				w/11,592	gals foamed	gelled	
]					t <u>r & 40.000#</u>	12/20	
				snd.	<u>-</u>		_[
				[-			— <u> </u> ,
None	Size	Set At	Packer At	Liner Run	☐ _{Yes} 🏻	No	
Date of First Produ	ction Producin	g Method X Flowing					
SI - WOPL		LA Flowing L	-Pumping L G	as Lift 🗀 (Other (Explain)		ļ
Estimated Production		Bbls. Gas 4	Mcf Wate		Gas-Oil	Ratio	Gravity
Disposition of Gas:	i		THOO OF COMPLET)	CN			roduction Interval
Vented Sold (If vented, su		ease Li Open	Hole 🕍 Perfo	ration 📙 D	oually Completed	LU Commi	ngled
(11 Velices, Su		[] Other	-(Specify)		لمت	28	48-2940
_ 7 . wan		• {		1	?	40	
•	-				[4]	_	

10

INVOICE



REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

INVOICE NO. DATE

014283

08/03/1990

A Halliburton Company

WELL LEASE NO./PLANT NAME WELL/PLANT LOCATION STATE WELL/PLANT OWNER

BANE I-2 STEVENS RS SAME

SER	VICE LOCATION	CONT	TRACTOR	JOB PURPOSE			TICKET DATE	
LIBERAL		GABBERT	& JONES	S CEMENT SURFACE CASING			08/03/1990	
ACCT. NO.	ACCT. NO. CUSTOMER AGENT VENDOR NO.		VENDOR NO.		CUSTOMER P.O. NUMBER	SHIPPED VIA FILE NO.		FILE NO.
019595	JIM BARLOW				33876	COMPANY	TRUCK	99615

ANADARKO PETROLEUM CORP P. O. BOX 351 LIBERAL, KS 67905-0351 DIRECT CORRESPONDENCE TO: SUITE 1300 LIBERTY TOWER 100 BROADWAY AVENUE OKLAHOMA CITY, OK 73102-0000

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING AR	EA - MID CONTINENT				
000-117	MILEAGE	20	MI	2.35	47.00
		1	UNT		
001-016	CEMENTING CASING	516	FT	630.00	630.00
		1	70 200 00 000		
030-016	CEMENTING PLUG 5W ALUM TOP	8 5/8		92.00	92.00 *
A CONTRACTOR OF THE PARTY OF TH	a contract of the second	1			
504-043	PREMIUM CEMENT	150		6.85	1,027.50 *
504-043	PREMIUM CEMENT	135		6.85	924.75
506-105	POZMIX A	45		3.91	175.95 *
506-121	HALLIBURTON-GEL 2%	3		.00	N/C *
507-210	FLOCELE		LB	1.30	107.90 *
509-406	ANHYDROUS CALCIUM CHLORIDE	7		26.25	183.75 *
500-207	BULK SERVICE CHARGE		CFT		385.00 *
500-306	MILEAGE CMTG MAT DEL OR RETURN	77.710	TMI	.75	58,28 *
	INVOICE SUBTOTAL				3,632.13
	INVOIGE BODICINE		0		3,034.13
	DISCOUNT-(BID)	4072	1/1	null	1,089.62-
	INVOICE BID AMOUNT	4016	- 4	7711	2,542.51
	INVOICE BID AROUNI				2,042.51
	*-KANSAS STATE SALES	TAX			87.91
	*-SEWARD COUNTY SALES				20.69
		STATE OF			
				- 1000	
		0	JT 11	2, 1990	
	THURSDE MOMEST DI BAGE DAY MINE	and Motteria			62 651 12
	INVOICE TOTAL - PLEASE PAY THE	-AMOUNT ==	415 Sep 201 Sep		\$2,651.11
	TERMS NET av THE SOTH OF THE SO		0.175.05	TANKSIOF LIBOR	

CUSTOMER COPY

INVOICE

HALLIBURTON SERVICES RIGINAL

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

INVOICE NO. DATE

A Halliburton Company

014284 | 08/06/1990

WELL LEASE NO./PLANT NAME WELL/PLANT LOCATION STATE WELL/PLANT OWNER

BANE I-2 - STEVENS KS SAME

SERVICE LOCATION CONTRA			TRACTOR	ACTOR JOB PURPOSE			TICKET DATE	
LIBERAL		GABBERT	BERT & JONES CEMENT PRODU			UCTION CASING		
ACCT. NO.	CUSTOMER AGENT VENDOR NO.			CUSTOMER P.O. NUMBER	SHIPPED VIA FII		FILE NO.	
019595	019595 DAVID GILMORE				33876	COMPANY	TRUCK	99615
					Parameter and the second			

ANADARKO PETROLEUM CORP P. O. BOX 351 LIBERAL, KS 67905-0351 DIRECT CORRESPONDENCE TO: SUITE 1300 LIBERTY TOWER 100 BROADWAY AVENUE OKLAHOMA CITY, OK 73102-0000

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
PRICING ARI	EA - MID CONTINENT				
000-117	MILEAGE	5	MI	2.35	11.75
		1	UNT		
001-016	CEMENTING CASING	3002	FT	1,095.00	1,095.00
		1	UNT		
030-016	CEMENTING PLUG 5W ALUM TOP	5.5	IN	47.00	47.00
		1	EA		
018-315	MUD FLUSH	1.260	GAL	.45	567.00
314-163	CLAYFIX II	2	GAL	20.00	40.00
504-050	PREMIUM PLUS CEMENT	265	SK	7.08	1,876.20
507-210	FLOCELE	6.6	LB	1.30	85.80
509-406	ANHYDROUS CALCIUM CHLORIDE	5	SK	26.25	131.25
500-959	CELITE	4600	LB	.42	1,932.00
500-207	BULK SERVICE CHARGE	555	CFT	1.10	610.50
500-306	MILEAGE CMTG MAT DEL OR RETURN	74.940	TMI	.75	56.21
	INVOICE SUBTOTAL				6,452.71
	DISCOUNT-(BID)				2,258.43-
	INVOICE BID AMOUNT				4,194.28
	*-KANSAS STATE SALES	TAX			130.92
$\Lambda \Lambda$	*-SEWARD COUNTY SALE	S TAX			30.82
John John	Lulei.			. 1	
p.		200	721]] "]	
	4	011		71	
		010	1	TO 18 19 TS1011	
	Ill GO	1/1	00		
				000	The state of the s
	1/2 //		0	3T 1 2, 1990	
	Congress Miller		U	4.	
8:13:90					
0 15 10	INVOICE TOTAL - PLEASE PAY THE	C KMOTINE -			04 256 02
	INVOICE TOTAL - PLEASE PAY THE	S AMOUNI EE	*** 102 52 203		\$4,356.02

WELL NAME:

BANE I-2 SEC. 36-32S-38W

STEVENS COUNTY, KANSAS

ORIGINAL

COMMENCED:

8-3-90

COMPLETED:

8-6-90

OPERATOR:

ANADARKO PETROLEUM CORPORATION

R-11

De From	pth To	Formation •	Remarks
0 515	515 1209	Sand - Redbed	Ran 12 jts of 24# 8 5/8"
1209	1364	Redbed Glorietta Sand	csg set @ 513' w/180 sks 25/75 Premix - 2% CC - 1/4# FS
1364	2040	Redbed - Shale	150 sks Common - 3% CC - 1/4#FS
2040	2460	Lime - Shale	PD @ 2:30 PM 8-3-90.
2460	2775	Shale	7 5 6 2,30 fm 0 3 30.
2775	3003	Lime - Shale	
	3003 TD		
			Ran 72 jts of 14# 5 1/2" csq

set @ 3002' w/225 sks Class C - 20% Diacel D ~ 2% CC - 1/4# FS 40 sks Class C - 10% Diacel D - 2% CC - 1/4# FS PD @ 4:45 AM 8-6-90. RR @ 5:45 AM 8-6-90.

STATE OF KANSAS

COUNTY OF SEDGWICK

) I, the undersigned, being duly sworn on oath,) state that the above Drillers' Well Log is true) and correct to the best of my knowledge and belief and according to the records of this office.

GABBERT-JONES, INC.

Subscribed & sworn to before me this 10th day of August 1990

My commission expires Nov. 21, 1992

